
ANSWERS– VOLUME 2: EQUILIBRIUM 
Chapter 3, Cross-Sectional Properties  problem 3.11,1-2, page 138 

Last update: 15-10-07 

R

y

z

zwaartepunt
driehoekig
segment

Remarks:  See §3.1.4, example 4, pages 86 till 87  
 
Answers 3.11-1: 
 
a. 21

4 πA R=  

b. C C
4
3π
Ry z= =  

 
 
 
 
 

 
Answers 3.11-2: 
 
a. 21

2 πA R=  
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Explanation 3.11-1: Centre of 

gravity 
triangular 
segment

 
The centroid of all the infinitesimally small triangular segments of the 
circle is located at a distance of 2

3 R from the center. With this 
information one can make use of the answer from problem 3.10-1. 
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Explanation 3.11-2: 
 
See the explanation of 3.11-1 and make use of the answer of problem 
3.10-2. 
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